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1. 
d4 U  Hx, sL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

d x4
+ q4 U  Hx, sL = d  Hx - sL, -• < x < •

H1L Is U  Hx, sL singular
H2L Is U  Hx, sL symmetric
H3L Is U  Hx, sL degenerate form

ANS

F  9 d
4  U  Hx, sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
d x4

+ q4 U  Hx, sL= = F  8d Hx - sL<
Æ Hk4 + q4L u Hk, sL = e-‰ks

Æ u Hk, sL =
e-‰ks

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄHk4 + q4L
Æ Inverse Fourier Transform
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 ‡
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ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄHk4 + q4L „‰ k Hx-sL ‚ k

Let f  Hz, sL =
„‰ z Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄHz4 + q4L
Hz4 + q4L = 0 Æ z = qei I p+2 kpÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ4 M k = 0, 1, 2, 3為單極點

HaL x > s

但只有z1 = qei pÄÄÄÄÄ4 , z2 = qei 3 pÄÄÄÄÄÄÄÄÄ4  在上半平面且其殘值為

Res u Hz1L = LimitA
„‰ k Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
Ik - q „‰ 3ÄÄÄÄÄ4 pM Ik - q „‰ 5ÄÄÄÄÄ4 pM Ik - q „‰ 7ÄÄÄÄÄ4 pM

, k Æ q „‰ pÄÄÄÄÄÄ4 E

=
„H-1L3ê4 q Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
4 q3  H-1L3ê4

Res u Hz2L = LimitA
„‰ k Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
Ik - q „‰ 1ÄÄÄÄÄ4 pM Ik - q „‰ 5ÄÄÄÄÄ4 pM Ik - q „‰ 7ÄÄÄÄÄ4 pM

, k Æ q „‰ 3 pÄÄÄÄÄÄÄÄÄÄ4 E

=
„H-1L1ê4 q Hs-xL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
4 q3  H-1L1ê4
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ÄÄÄÄÄÄÄÄÄÄÄ
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ÄÄÄÄÄÄÄÄÄÄÄÄÄ
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@Res u Hz1L + Res u Hz2LD = ‰ 9-
H-1L1ê4 i

k
jjj„H-1L-

3
ÄÄÄÄÄÄ4 q Hs-xL

+ ‰ „H-1L
1
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ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
4 q3

=

Æ 9-
H-1L1ê4 I‰„H-1L-3ê4 q Hs-xL

- „H-1L1ê4 q Hs-xL M
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

4 q3
=
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特解 + 補解 = 特解

Æ LimitA
H-1L1ê4 I-‰„H-1L-3ê4 q Hs-xL

+ „H-1L1ê4 q Hs-xL M
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

4 q3
-

H-1L1ê4 - H-1L1ê4 ‰
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

4 q3
, q Æ 0E

L' Hospital rule

Æ LimitA
H-1L1ê4 IH-1L1ê4 „H-1L1ê4 q Hs-xL Hs - xL + H-1L1ê4 „H-1L3ê4 q H-s+xL H-s + xLM
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

12 q2
, q Æ 0E

Æ LimitA
H-1L1ê4 I‰ „H-1L1ê4 q Hs-xL Hs - xL2 - „H-1L3ê4 q H-s+xL H-s + xL2M
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

24 q
, q Æ 0E

Æ LimitA
1

ÄÄÄÄÄÄÄÄÄ
24

 IH-1L1ê4 IH-1L3ê4 „H-1L1ê4 q Hs-xL Hs - xL3 - H-1L3ê4 „H-1L3ê4 q H-s+xL H-s + xL3MM, q Æ 0E

Æ -
1

ÄÄÄÄÄÄÄÄÄ
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Hs - xL3

Æ
1

ÄÄÄÄÄÄÄÄÄ
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Hx - sL3

HbL x < s

U Hx, sL =
1
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1

ÄÄÄÄÄÄÄÄÄÄÄ
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 ‡
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ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄH k4 + q4L „‰ k Hx-sL ‚ k

Let f  Hz, sL =
„‰ z Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄHz4 + q4L
但只有z3 = qei 5 pÄÄÄÄÄÄÄÄÄ4 , z4 = qei 7 pÄÄÄÄÄÄÄÄÄ4  在下半平面且其殘值為

Res u Hz3L = LimitA
„‰ k Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
Ik - q „‰ 1ÄÄÄÄÄ4 pM Ik - q „‰ 3ÄÄÄÄÄ4 pM Ik - q „‰ 7ÄÄÄÄÄ4 pM

, k Æ q „‰ 5 pÄÄÄÄÄÄÄÄÄÄ4 E

=
I„H-1L3ê4 q Hs-xLM
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
-4 H-1L3ê4 q3

Res u Hz4L = LimitA
„‰ k Hx-sL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
Ik - q „‰ 1ÄÄÄÄÄ4 pM Ik - q „‰ 3ÄÄÄÄÄ4 pM Ik - q „‰ 5ÄÄÄÄÄ4 pM

, k Æ q „‰ 7 pÄÄÄÄÄÄÄÄÄÄ4 E

=
„H-1L1ê4 q H-s+xL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
-4 H-1L1ê4 q3

故

1
ÄÄÄÄÄÄÄÄÄÄÄ
2 p

 ‡
-•

•

u Hk, sL „‰ k s ‚ k =
-2 p‰
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

2 p
@Res u Hz3L + Res u Hz4LD = -‰ 9

„-H-1L3ê4 q Hx-sL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
-4 q3  H-1L3ê4

+
„H-1L1ê4 q Hs-xL

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
-4 q3  H-1L1ê4 =

Æ -
H-1L3ê4 I„H-1L3ê4 q Hs-xL + ‰ „H-1L1ê4 q H-s+xLM
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

4 q3

特解 + 補解 = 特解

Æ 9-
H-1L3ê4 i

k
jjj„H-1L

1
ÄÄÄÄÄÄ4 q Hs-xL

- ‰ „H-1L3ê4 q Hs-xLy
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ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
4 q3

+
H-1L3ê4 - H-1L3ê4  ‰
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

4 q3
, q Æ 0=

L' Hospital rule

BEM-hw3.nb 2



Æ LimitA
1

ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
12 q2

 I-H-1L3ê4 IH-1L3ê4 „H-1L3ê4 q Hs-xL Hs - xL + H-1L3ê4 „H-1L1ê4 q H-s+xL H-s + xLMM, q Æ 0E

Æ LimitA
-H-1L3ê4 I-‰ „H-1L3ê4 q Hs-xL Hs - xL2 - „H-1L1ê4 q H-s+xL H-s + xL2M
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

24 q
, q Æ 0E

Æ LimitA
1

ÄÄÄÄÄÄÄÄÄ
24

 I-H-1L3ê4 IH-1L1ê4 „H-1L3ê4 q Hs-xL Hs - xL3 - H-1L1ê4 „H-1L1ê4 q H-s+xL H-s + xL3MM, q Æ 0E

Æ
1

ÄÄÄÄÄÄÄÄÄ
12

Hs - xL3

U Hx, sL 9
1ÄÄÄÄÄÄÄ12 Hx - sL3 x > s

1ÄÄÄÄÄÄÄ12 Hs - xL3 x < s

H1L regular
H2L symmetric
H3L degenerate form

2. 

d2 G Hx, sL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ

d x2
= d  Hx - sL, 0 < x < L

Subjected to G H0, sL = 0, G' Hl, sL = 0
H1L Is U  Hx, sL singular
H2L Is U  Hx, sL symmetric
H3L Is U  Hx, sL degenerate form

ANS
as 0 < x < s
d2 g1 HxL
cccccccccccccccccccccc

d x2
= 0  0 < x < s

→ g1 HxL = a + bx B.C. G H0, sL = 0
→ g1 HxL = bx

as s < x < l
d2 g2 HxL
cccccccccccccccccccccc

d x2
= 0  s < x < l

→ g2 HxL = c + dx B.C. G' Hl, sL = 0
→ g2 HxL = c

Satisfied two conditions
g1 HsL = g2 HsL
g2

' Hs+L − g1
' Hs−L = 1

→ 9 b = −1
c = −s

The Greens Function is
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G Hx, sL = 9 -x, 0 < x < s
-s, s < x < l

H1L regular
H2L  symmetric
H3L degenerate form

Null
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